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OPTION-A.
( Plant Anatomy and Embryology)
Paper :. BOT-HG-40 16/BOT-RC-4016
. Answer very briefly : i 1x7=7
- S 5y Ted el 3 :

(a) What is the only living cell present in
xylem tlssue 7

@E‘mwwuﬂmﬁﬁ—mﬁw

(b) Write the type of vascular bundle in
dicot root.

ff-SoE e f‘?T‘PIT‘“ CoAE R m@wﬁ
a0 foran ;

(c) Who discovered the process of double
- fertilization ?

(d) What type of fruit doe.s not b_éar seeds ?
& @99 TE S = A q @

(e) What type of endosperm is found in
wheat ?

EINgTS & 4979 T (ol T 2
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() What is cambium ?
R R

-(g} What are sunken stomata ?

fes seemER &2

. 2, Write briefly : : i 2x4=8

B 8
(a) Quiescent centre (ﬁ‘@ﬂ CW)

(b} Parachute mechanism of seed dispersal
Fror RERER (oRIR0 (T
g {c) Embryo sac (TNR)

(d): Annual rings (’iﬁ%ﬁﬁ)

3. Answer any three of the following : :
s e 15
wes Gl TR R ﬁﬁ?ﬁ%@a B 2

(a) Difference between the internal
structure of dicot and monocot stems.

B W qaeHE)  Sferm e
SERI Mo AT |
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Write brieﬂy on heartwood a

(b)

wood. s
T T SR PRI T T S e
(c) An‘ator_nickal. features‘ of Xemophytes.
TG T SrereTie oo |
(@) I];:;;firébe the important  theories
o g to the organisation of root :
_:ﬁ!?%:?FWQ‘@KETQ@NS@ﬁﬁﬁffﬁEﬁmﬂii

() What is double fertilization ? Write

~ briefly about the significance of double

fertilization.

e Re B-ficaes GRITHEY ﬁj@ﬁ '
o e O
fovar | | : Lot
4. Answer any three of the following :
i | ‘ 10x3=30
fa) What is,mt?ristematic tissue ? How are
they classified ? Write briefly about

them. _2+2+6=10
©IET 71 f5e TR ffeew @ o
P U [ 5 e
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l

(b) Describe the extrastelar secondary

growth in dicots with suitable
illustration. Distinguish between
fascicular and interfascicular
cambium. 7+3=10

Bz RETEE e Flee (@R ARTSH
(e < T RN W FOR-
g (AR e 9l ALTPRR

et .. '

() Describe about the contrivances for

cross pollination in plants. : o

Tod SRIAENPR AE TETS 4 GFHETTR
e 31 | o

(d) How are functional megaspore and
embryo sac formed ? Describe various

types of embryo sac developments in
. angiosperms with neat diagram.

2+8=10
FIE A W SN @ o107 WL
Fopee Ui fRifen ooRg TeldRe o1
e R o 3t <11 ' ‘

(e) What is permanent tissue ? Describe -

different types of simple tissues with
neat diagram. 2+8=10
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ﬁWﬁWfﬁaﬂiﬁf@ﬁasﬁaww OPTION--B

il ﬁzm
: { Economic Botany and
() What is polyembryony 5 Whe Brst Plant Biotechnology)

reported the phenomenon of
polyembryony ? Discribe briefly about Paper : BOT-HG-4026

-ﬂf.le cleavage polyembryony with neat 1. Answer the following questioné i e ‘
diagram. oy 0+147=10 j

qEgael e (@I AUty el FSe i " ; .
qs’@f?ﬁ? Rl qeeErei e 2 <5411 (a) at is the SClel’ltl ic name o) gram

meﬁs?

(b) What is the main alkaloid found in '
black pepper ? :

Wmmﬁmmﬁwmﬁw

(¢) Groundnut belongs to which family ?
SRR GO (oliET @S ?

(d) Who is known as father of tissue
culture ?

R G 4R TR T TR

(e) What is gynogienesis 2
e o R T

() Write the full form of RFLP.
4. e Bl Al e
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HAIR Testfe oige weftafes esg

L {g} What is D fingerprinting ? (b) Scientific names and uses of clove and

ﬁiﬂﬁ.«ﬂ. ﬁ@awféﬁ?a e T ~ black pepper

T OIS e (SIS A A IRRTTR
2 Answer the foIIowmg questlons brieﬂy : 3
_ Ix4=8 8 (c) Micropropagation
wﬁmmmﬁwz,‘ 7 i | TR :
(@) What is endosperm culture ? Al (d) DNA fingerprinting technique and its
ST T e o -
B o Bgra foomeRiS  ofem w= =9
(b)) What is blotting technique ? 4 R ol —
Al e fee (e) Reverse transcriptase—PCR
() What is RAPD marker ? ' | oK Wﬁcﬁ‘s—ﬁ%w

i9.9.51.fC. wiw /5o
(d) What is ELISA fest ?.
‘afevar < 'ﬁf?

4. Answer the following questions : 10x3=30
el ) 2R Ted for ¢

(@) : Define centre. of origin: . Describe

; i i ilov’ tres of origin with
Write short notes on the following : (any Nikolai Vavilov’s centre g

three) _ 5x3=15 - examples of_ the crops. - 1+9=10
T f,m 1 ° wiferres

oS \39@-— m et 2 | ol (arger el o | e e _

fefasy) . ‘ mi ( ' - J Teoffed WWWW%W

(a} Origin and economic 1mportance of
Soybean :
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(@
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Or / 94

Discuss the centre of origin, scientific
name, processmg and uses of tea.

1+145+3= 10 1

E o Tesifed @@3&1 h@fﬁﬁs M,
ogeasd afFa oie IR /A SEna

=

Describe the in vitro pathways of

gynogenesis and their application.
6+4=10

@@ﬂﬂ%&ﬁﬁﬁ mmi‘lﬁ IR
e 3 4|

or / 594t

Describe the process of embryo culture

~and their practical application.

e dfe Wi 2N IR ArmeEE
o ==

What is SDS-PAGE technique ?
Describe the southern and northern

‘blottmg techmques in electophoresis.
: 1+9 10

as.ffs.aﬂs.éﬁ.@.%.i ﬁfaﬁf@ R el vsgﬁe Tet
AR afers r.a?mw i T |

or / wgal

Describe the molecular DNA markers
— RAPD, RFLP and SNPs.

o fT.99.9. TFR— wRafie, ez,
e[, =% 9.« BT R i
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